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Hip;  p1 = pio (010 #0: given)
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Table 1. The simulation results for p-values.
21 = Egzdlag(7,2,1)

Ny =N, =50 Ny = N, = 100
H, 050 .100 .500 .900 .950 |050 .100 .500 .900 .950
B =g | 0510 .0965 .5090 .9025 .9500 (0495 .0990 .5065 .9000 .9500
B =% | 0500 .1040 .5030 .8985 .9490 0515 .1005 .4975 .8970 .9465
B =% | .0500 .0990 .4980 .9010 .9520 0505 .1000 .5085 .9035 .9512

Ny = Ny =200

H 050  .100  .500  .900  .950

By =B |.0510 0965 5090 .9025 9500

By =Y |.0500 1040 5030 .8985 .9490

By =B |.0500 .0990 4980 .9010 .9520
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Table 1. The simulation results for p-values.
3, = ¥y=diag(40,10,5,2,1)



N; = N2 = 100 Ni = N, = 200

o, 050 100 500 .900 .950 |.050 .100 .500 .900 .950
AD =AY L0558 .1078 5092 9026 .9518[.0512 .1022 .5004 .9010 .9490
A2 = AP | 0506 .1000 .4896 .9000 .9473|.0534 .1034 .5004 .9010 .9490
A = AP | 0534 0996 5032 .9060 .9523|.0514 .1018 .5078 .9014 .9500




